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Algorithm 1 EditDistance(E4[1,...,n], E2[l,...
: for i =0 ton do

ed[i,0] «— x(E1[i] — A)

: end for

»1m])

for j =0 tom do
ed[0, ] = x(A — Ezl[j])
end for
fori=1tondo
for j =1tomdo
delete «— ed[i — 1, j] + x(E1[i] — X)
insert «— ed[i,j — 1] + x(A — E2[j])
subs — ed[i — 1,7 — 1] + x(E1[i] — E2[j])

ed[i, j| < minimum(delete, insert, subs)
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: end for
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: return ed[n,m]
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e 0 O0O: I will goto the shop.
e 00 0: Iwill go to the shop.
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e 00 0O: This is afftected so badly by noise.
e 0 00O: This is strongly affected by noise.
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Algorithm 2 x3(v1,v2)
1: if v1 = X then
2:  cost < Yy (subtree(vs)) V(A — W)
3: else if vo = )\ then
4: cost < Lyev (subtree(vr)) V(U = A)
5: else

6: if v100 then

7

8

9

cost «— EweV(subtree(vz)\1)2)'->/(A - w)
else if v,00 then

cost «— EvGV(subtree(vl)\'Lq)W(v - >\)

10:  else

11: cost < subtree(vy) O subtree(ve) 0300000000
oog

12:  end if

13:  cost « cost + y(v1 — v2)

14: end if

15: return cost
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No. | OOD f
1 only by using — by using only 1.0
2 exhaustive — extensive 1.0
3 currently freely downloadable
— freely available for download 1.0
4 further ahead — below 1.0
5 be decided straightforwardly
— be straightforwardly determined 1.0
6 Firstly — First 0.62
7 is different — differs 0.50
8 raise — increase 0.50
9 industrial - commercial 0.43
10 that are — such as 0.10
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11 (novice view ideograms)
— (beginners view ideograms) 1.0
12 (this predictive text entry )
— (predictive text entry ) 1.0
13 (WWW ) — (the WWW ) 1.0
14 | (small mobiles machines )
— (small mobile devices ) 1.0
15 (a small evaluation )
— (a small scale evaluation ) 1.0
16 (the counts ) — (the count ) 0.75
17 | (The oldest expression)
— (The earliest expression) 0.67
18 (Additionally ) — (In (addition )) 0.67
19 ((this viewpoint)(too))
— ((this respect)(also)) 0.67
20 (a computer ) — (a device ) 0.44
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